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Answer all questions in the spaces provided.
1 Circle the fraction that is equivalent to 215
[1 mark]
43 41 21 23
20 20 5 5
2 Draw adiagram of the column vector < 2 >
4
VA
4
3_
2_
1 -
0 I I I I >
0 1 2 3 4 b 5
[1 mark]
3 Which one of these is a square number and a cube number?
Circle your answer.
[1 mark]
25 64 256 1250

*02* & Prepare ' 6036
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14
4 Circle the reciprocal of B
[1 mark]
8 1 _r
7 ’ 8
1
12
5 Work out the value of 16
T00
[2 marks]
Answer

i

0 not write
outside the
box

)

*03*

Turn over »
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Do not

write
outside

6  Thescatter graph shows the age and the price of 20 bikes. the box

The bikes are all the same make and model.

10 000

HeX

9000

8000

o3 SRR . So3

L IB K

7000

6000

w23

Price (£) 5000

L INIBE J

4000

3000

o

2000 1

Ll o

1000

0 1 2 3 4 5 6 0l 8

Age (years)
[2 marks]

Use a line of best fit to estimate the price of a 6-year old bike.

Answer £

04~



v In a group of 80 musicians:

14 are singers but do not play guitar.
32% are neither singers nor guitar players.

L ofthe guitar players are also singers.

3

& = 80 people who are musicians
S = singers
G = guitar players

Complete this Venn diagram to represent the information.

[4 marks]

3

Do not write
outside the

box

*05*

Turn over »
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The shorter side of a parallelogram has length 7.2 cm

Not drawn
accurately
7.20m
1
The length of the shorter side is — of the perimeter.
6
Work out the length of the longer side.
[3 marks]
Answer cm
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9 (a)

9 (b)

All the terms of a geometric progression are positive.

The second and fourth terms are shown.

Work out the first and third terms.

[2 marks]

First term

Third term

The first two terms of an arithmetic

3x ™

The sum of the first three terms is 60

Work out the value of x

progression are shown.

[3 marks]

Answer

*07*

Turn over »
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10

The cost of a car repair is £1800.

Sarah pays a deposit followed by monthly payments, in the ratio:

deposit : total of the monthly payments=4:7

She makes 8 equal monthly payments.

Work out Sarah's monthly payment. [4 marks]

Answer £

*08*+
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1 As adecimal g - 4.375
Work out o5 282 decimal.
[2 marks]
Answer
Turn over for the next question
Turn over »
*09*
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Do not write

outside the
box

12 Two wire shapes make an earring.
The shapes are
a circle with radius 28 mm
and

a quarter circle.

Not drawn
accurately

radius of circle : radius of quarter circle = 7:3

12(@)  Show that the radius of the quarter circle is 12 mm
[1 mark]

10 * 2% Prepare ' 6656
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Do not write
outside the
box

12 (b) Work out the total length of the wire in the earring.
Give your answer in the form att+b whereaandb areintegers.
[4 marks]
Answer mm
Turn over for the next question
Turn over »
*aa & Prepare | 6CSE
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Do not write
outside the
box

13(a) Work out all the integer values of x for which 15 <5x <25

[2 marks]

Answer

13 (b) Charlie triestosolve (x +5)(x -3)=0

Here is his working.

x+b)=0 or (x=-3)=0

Answer x=-b oOr x=3

Give a reason why his answer is wrong.
[1 mark]

12* S Prepare | 6056
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Do not write
outside the
box

14 (a) Rationalize the denominator and simplify 7

A3

[2 marks]
Answer
14 (b) Annais trying to work out the two values of x for which
2
2x-5x=17
Her values are 2 and -3.
[2 marks]

Are her values correct?

You must show your working.

Answer

Turn over »

* 13 & Prepare | 6CSE
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15 Circle the calculation that increases 500 by 12.5%

[1 mark]
500 %1125 500 x1.12 500 x1.25 500 x 0.125
16 Work out 60 000 000 + 300
Give your answer in standard form.
[2 marks]

Answer

14 % % Prepare || 6056
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Do not write
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box

17 The nth term of a sequence is 4n-3
The nth term of a different sequence is 5n+1
Work out the two numbers that are in both sequences and between 10 and 30.

[3 marks]

Answer , ,

Turn over »

1e” 2 Prepare ' 0456
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Do not write

18 Red paint costs £4.20 per litre.
Yellow paint costs £3.00 per litre.
Red paint and yellow paint are mixed in the ratio 5: 3.
Work out the cost of 24 litres of the mixture.
|
[4 marks]
Answer £
16 * X Prepare ' 6056

outside the
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Do not write
outside the
. . . . X X box
19 Circle the expression that is equivalent to 37 =
[1 mark]
X 2x X X
2 6 6 18
20 (a) Write down the value of 99
[1 mark]
Answer
_2
20 (b) Work out the value of 64 3
[2 marks]
Answer
Turn over for the next question
8

Turn over »
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2l Write these numbers in order of size.

12.4 N (32)°

Start with the smallest.

[2 marks]

Smallest

Largest

18*

2% Prepare ' 6036
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22(a)  yisdirectly proportional to x °
when x=5, y=45

Work out an equation connecting y and x

[3 marks]
Answer
22 (b) Pisinversely proportional to q.
The value of g is doubled.
What happens to the value of P?"  Tick one box.
[1 mark]

P doubles.

P halved.

P stays the same.

P becomes one-quarter of its original value.

Turn over for the next question

Do not write
outside the
box

*19¢%

Turn over »
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23

PQRS is a quadrilateral.

Q

Prove that PQRS is not a cyclic quadrilateral.

Not drawn
accurately

[4 marks]

*20¢%
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Do not write
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24 ais 20% more than b.

Circlethe ratioa: b

6:5 5:6 12:11 11:12 [t mark]

Turn over for the next question

Turn over »

* % & Prepare ' 6036



22

25

Work out the value of (cos 60° x sin 45° x tan 30°) 2

[4 marks]

Answer

*202*

2% Prepare ' 6036
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26 (a) Show that % can be written in the form aJE where a and p are integers.

[2 marks]
26 (b) Work out 3 V125 x 4/ 64 x /25

Give your answer as an integer.
[3 marks]
Answer
Turn over for the next question
Turn over »

* 23
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27 Rationalise the denominator and simplify 50
25" [2 marks]
Answer
28 Alex's age is 3 years and 6 months.
Mia's age is 2 years and 4 months.
Write Alex's age in months as a fraction of Mia's age in months.
Give your fraction in its simplest form. [2 marks]

Answer

24*

2% Prepare ' 6036
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29

The graph of'y = 2x%+ 3is translated 5 units to the left.
The translated graph has equation y = g(x).

Work out g(x).

) ) 2 )
Give your answer in the form o3 ax+ bx + ¢ ,where a,b, and ¢ are integers.

[4 marks]

Answer

END OF QUESTIONS

*25 %
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